XHF5%

RIS s 4o 71815 KEBREKEVTE | g N N BRABE RiRfE : 2K

ok A B R6.6.6 R6.9.5 R6.12.5 R7.36 | R6.11.27 | R6.12.3 R6.4.16 R6.5.8 R6.6.4 R6.7.9 R6.8.6 R6.9.11 ;‘66'1‘00'125 R6.115 | R6.12.3 R7.1.7 R7.2.5 R7.35 EKERH R6.6.6
KB 9:50 9:40 9:35 19:20 10:41 13:20 12:42 10:54 12:25 11:49 11:14 12:52| 10:40] 11:40 10:26 11:55 10:03 12:40 11:45 EKEFZ 9:50
PN EEh =l BB R/ BEh Eh Bh £l Bh BEh =Y Y| Bh| Bh =l Bh =l i 551 Xix BEh
sum (°C) 23.9 27.0 12.0 11.1 16.2 19.5 24.0 20.0 20.0 31.2 30.5 31.2| 28.8| 258 18.8 17.2 10.0 9.0 7.0 i (C) 23.9
Kim_(°C) 21.0 27.0 12.7 10.3 14.7 14.2 14.6 17.2 21.8 26.0 28.2 26.5| 25.2] 23.0 20.0 15.8 11.0 11.0 11.8 Kim (°C) 21.0
1| — A% HHE 0 0 0 0 0 1001E LLF 0 0 0 0 0 0 0 0 0 0 0 0 111.3->4oo 0o~ (D-D) 0.05 FHF <0.0005
2| KGE T NSy T TR [E1ES BHIhAWNIE EtE Pt EtE et [E1ES fEtE [EIES Pt EE et [=1k3 et 2(2,2-DPA (4'3%Y) 0.08 BRE <0.001
ARV LRUZDIEEY <0.0003| <0.0003] <0.0003] <0.0003 <0.0003 0.003LLF <0.0003 3[2,4-D(2,4-PA) 0.02 BREH <0.0002
4KEBRUVZDIEEY <0.00005| <0.00005[ <0.00005| <0.00005 <0.00005 0.0005LLF <0.00005 4|EPN 0.004 BEE <0.00004
5| ELURUZEDIEEY <0.001 <0.001 <0.001 <0.001 <0.001 001LLF <0.001 5/mMcPA 0.005 BREE <0.00005
SRR UZDIEEY <0.001 <0.001 <0.001 <0.001 <0.001 001LLF <0.001 6|7 a5L 0.9 BREH <0.009
WERZRUZDIEEY <0.001 <0.001 <0.001 <0.001 <0.001 001LLF <0.001 1722z —k 0.006 HaHl <0.00006
8|y LiEEY <0.002 <0.002 <0.002 <0.002 <0.002 0.02LLF <0.002 87T 0.01 BREA <0.0001
o|FHrERRE R R <0.004 <0.004 <0.004 <0.004 <0.004 0.04LLF <0.004 9|7=0kx 0.003 BREA <0.00004
10|17 UAEMAA U RUOEIES T <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 <0.001 <0.001 <0.001 10735 X 0.006 FRE <0.00006
|EREERRUVEHEREESR 0.57 0.64 0.78 0.44 0.8 10LLF 0.5 11|7550—)L 0.03 BRE <0.0003
12 7vRRUVZDIELEY 0.08 0.08 <0.08 0.09 <0.08 0.8LLF <0.08 121X YFHY 0.005 R <0.00005
13|IEF3FRRUVZDEEY <0.1 <0.1 <0.1 <0.1 <0.1 1.0LLF <0.1 13[4V 7Tk R 0.001 FRE <0.00004
14|Wig LR E <0.0002| <0.0002| <0.0002] <0.0002 <0.0002 0.002LLF <0.0002 14|47 0A)LF (MIPC) 0.01 FRE <0.0001
15[1,4-oFFH> <0.005 <0.005 <0.005 <0.005 <0.005 0.05LLF <0.005 15|47 0F 45> (IPT) 0.3 HEH <0.003
6 :57\/1_{2_ 1;25;;:;;&/“ <0.004|  <0004| <0004|  <0.004 <0.002 0.045LF <0.002 16|4FTz2hIL T 0.002 BRI <0.0001
1720843 <0.002 <0.002 <0.002 <0.002 <0.001 0.02LL'F <0.001 17|47~ KR (IBP) 0.09 BEH <0.0009
187>/ 0BTFL Y <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 18|43 /9482y 0.006 BEFl <0.001
g [ 19 N)yOOTFLY <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 1945 /o7y 0.009 BB <0.00009
20(Ro € <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 N E 1= 0.03 BB <0.0003
21|18 R 0.07 0.07 0.06 <0.06 <0.06 0.6LLF 0.06 <0.06 <0.06 <0.06 21|TrozTOvs R 0.08 FaE <0.0008
22|V OO EEEE <0.002 <0.002 <0.002 <0.002 <0.002 0.02LLF <0.002 <0.002 <0.002 <0.002 22| TURRILT7ZU(N VY IEY) 0.01 B HRE <0.0001
s |23 ZI=1=E N 0.014 0.017 0.010 0.006 0.008 0.06LLTF 0.015 0.018 0.010 0.007 23|AFH o0tk 0.02 BB <0.0002
24| HOOE <0.002 <0.002 <0.002 <0.002 <0.002 0.03LL'F <0.002 <0.002 <0.002 <0.002 24|A X SR HEER) 0.03 HEH <0.0003
257 0F 0042 0.005 0.006 0.005 0.005 0.005 0.1LLF 0.006 0.006 0.006 0.007 25|44 ZrOEY 0.1 BEF <0.001
26| R KA <0.001 0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 <0.001 <0.001 <0.001 26| H X YRR 0.0006 FRE <0.00004
5 |27 WY NOAR 0.027 0.031 0.022 0.018 0.020 0.1LLF 0.031 0.034 0.025 0.024 27|h7xZkA—)L 0.008 BRE <0.00008
28( k) /O OEEER <0.003 <0.003 <0.003 <0.003 <0.002 0.03LL'F <0.002 0.002 <0.002 <0.002 28|AILByT 0.08 FHE <0.0008
20|70 00A3Y 0.007 0.008 0.006 0.005 0.006 0.03LLF 0.009 0.009 0.008 0.008 29[4JL73)JLINAC) 0.02 FRE <0.0002
30(D78EhRIL L 0.001 <0.001 0.001 0.002 0.001 0.09LLF 0.001 0.001 0.001 0.002 30|AILARTSY 0.005 HHE <0.00001
g |31 RILLTILTER <0.008 <0.008 <0.008 <0.008 <0.008 0.08LLF <0.008 <0.008 <0.008 <0.008 31[¥ /453 (ACN) 0.005 B e <0.00005
2|HMRUVZEDIELEY <0.005 <0.005 <0.005 <0.005 <0.01 1.0LLF <0.01 32| FvTHY 0.3 REH <0.003
BTZILE=ZVLRUVZEDILEY 0.01 0.02 0.02 0.01 <0.02 0.2LLF <0.02 33|ysoy 0.03 BB <0.0003
MHERUVZDEEY <0.03 <0.03 <0.03 <0.03 <0.01 0.3LLF <0.01 34|45 RY—k 2 BB <0.02
BFHEVZEDIEEY <0.01 <0.01 <0.01 <0.01 <0.01 1.0LLF <0.01 35|45 LR R—b 0.02 BREF <0.002
36|FRUDLRUVZDIEEY 22.3 19.9 19.0 30.7 17 200LLF 23 36|yoAx7oyS 0.02 BREH <0.0002
N AHVRUZEDIEED <0.001 <0.001 <0.001 <0.001 <0.005 0.05LLF <0.005 37|#o)L=ro2z> (CNP) 0.0001 BREA <0.00004
38|iE A4 15.3 16.3 15.7 33.1 16 200LLF 15 16 15 14 17 16 14 15 16 15 17 17 38|/0JLE KRR 0.003 B RE <0.00004
AL, T L5 (FEE) 84 72 89 120 88 300LLF 75 76 85 130 39|/o040=)L (TPN) 0.05 REE <0.0005
I EEIEEE 210 180 180 250 180 500LLF 200 180 130 260 W0 7oy 0.001 BRE <0.00001
A|EAA R EmEMHEH <0.02 <0.02 <0.02 <0.02 <0.02 02LLF <0.02 41|27 /R (CYAP) 0.003 = RA <0.00004
2o IARIY <0.000001| <0.000001] <0.000001] <0.000001 <0.000001 0.00001LLF <0.000001| <0.000001] <0.000001] <0.000001 42502 (DCcMu) 0.02 BRE <0.0002
43(2-AF LAY RIL A —)L <0.000001] <0.000001| <0.000001| <0.000001 <0.000001 0.00001 LA <0.000001| <0.000001] <0.000001] <0.000001 43|>40A~=)L (DBN) 0.03 BRE <0.0003
44| JEA/ A R E M <0.005 <0.005 <0.005 <0.005 <0.002 0.02LLF <0.002 <0.002 <0.002 <0.002 44[>40)LR R (DDVP) 0.008 R <0.00008
45|27z /—)LEE <0.0005| <0.0005| <0.0005] <0.0005 <0.0005 0.005LLF <0.0005 45479k 0.01 BB <0.001
46| EHME(TOC) 0.8 0.9 0.7 0.9 0.8 3LLF 1.1 1.0 1.0 1.0 0.7 0.9 0.9 0.8 0.9 0.9 1.0 1.1 462 ZILTRA U (TFLFEARY) 0.005 5% B <0.00004
47||pH1E 7.4 0.7 7.7 7.6 7.8 58LLE86LLTF 7.7 7.7 7.7 7.7 7.8 7.8 7.7 7.7 7.8 7.6 7.7 7.6 A7 CFADINA—FREE 0.004| FHR-BEH <0.00005
48|k EEhlL| EELGL] BEELL] EELGL EELEL EEThHWIY] BELGL| BELL| BEBELGL| EELGL] BEELL| EELGL| EBELGL] BEE4L| BEE4LL] BELGL| BEELGL| EELL 48|CFAE L 0.009 BRE K <0.00009
49| 2= EEhL| EELL] BEELL| EELGL EELGL EEThHWIY] BELGL| BELL| EBELGL| EE4GL] BEELL| EELGL| EBERELGL] B4l BEEL4L] BEELL| BEEL4L| EELL 49> 1\akyTITFIL 0.006 BRE I <0.00006
50( 8 E 4 <1 1 <1 <0.5 5ELLTF <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 50/ <LV (CAT) 0.003 BB <0.00004
517 <0.1 <0.1 <0.1 <0.1 <0.1 2ELLTF <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 51| AR AR Y 0.02 BRELKI <0.0002
52| ART—F 0.05 B RE <0.0005
B 1Z{E (mg/L) 53| AR 0.03 BB <0.0003
HWZOoFEVRUZEDIEEY <0.0015| <0.0015| <0.0015] <0.0015 <0.002 0.02LLF RS 0.003 B ERE <0.00004
29SO RUVZEDIEEY <0.0002[ <0.0002| <0.0002| <0.0002 <0.0002 0.002 L F (x2) = | 5544400 0.8 BREA <0.008
3|=ur LRUZDIEEY <0001|  <0001|  <0.001|  <0.001 <0.002 0.0254F <0.002 K ol | oor| mEemmemEm | <0.0001
4R & x| s1lF7o= 0.1 REE <0.001
5/12->4/Q0IT4Y <0.0004] <0.0004] <0.0004] <0.0004 <0.0004 0.004LLF 58|F 5L 0.02 BEH <0.0002
K 6| R F . 59|FATHILT 0.08 HEHl <0.0008
1R & | 60[FATFR—FAFIL 03 EER <0.003
= 8lkILTY <0.04 <0.04 <0.04 <0.04 <0.001 04LLTF 61|1FA~oANLTD 0.02 BREE <0.0002
| DBILEES 2-TF)LAFXI)L) <0.008 <0.008 <0.008 <0.008 <0.008 0.08LLF 62|T7YILRY A 0.002 BRE <0.0001
as [ 10 HIEFRER <0.06 <0.06 <0.06 <0.06 0.6LLTF 63|57 )L FAHILT (MBPMC) 0.02 BB <0.0002
MR & 64|rJ~0OEIL 0.006 BREH <0.0003
m |12 ZFEiEXR - - - — 0.6LLF 65(~)4~0)L 7> (DEP) 0.005 ®HRE <0.00005
13(>y0a7tc=k)JL <0.001 <0.001 <0.001 <0.001 <0.001 0.01 LA F(x2) <0.001 66|~ 5 —)L 0.1 BREH <0.001
5 1438k B85—I)L <0.002 <0.002 <0.002 <0.002 <0.002 0.02LL F(x2) 0.002 67|k TILS 0.06 BB <0.0006
15|=%% <0.01 - - - 1LUF 68|70/ =K 0.03 BB <0.0003
= | 16|REBIER 0.7 0.8 0.6 0.7 0.69 1UF 0.53 0.62 0.54 0.70 0.68 0.64 0.60 0.66 0.58 0.55 0.65 0.51 69|/85a3—F 0.01 R E <0.001
T 1A YL, TR LE GRE) 84 72 89 120 10~100 75 76 70[EROEKX 0.0009 BREA <0.00004
s 18|RVAVRUZDIEEY <0.001 <0.001 <0.001 <0.001 0.01LLTF 11|EZo8=)L 0.01 BREAI <0.0001
8 19 [l Bt o R 11 9 6 14 2 20LLF 12|[ESYXL Iy 0.004 BRE <0.00004
= |20 1,1,1-k)ypnxay <0.03 <0.03 <0.03 <0.03 <0.001 0.3LLF 13|ESV ) R—RETFY L-F) 0.02 R E <0.0002
21| AFI)L-t-TFIJLT—TF )L (MTBE) <0.002 <0.002 <0.002 <0.002 <0.002 0.02LL'F <0.005 714|EY) I F A 0.002 HRE <0.00004
g | 22/ BRM%E (KMnO4HEE) (* 3) = = = - LT 1.1 1.0 1.0 1.0 0.7 0.9 0.9 0.8 0.9 0.9 1.0 1.1. 15|EYITFHILT 0.002 BR = <0.0002
23| R X5 E (TON) < 1 < < 4 3LLTF <1 76|E0¥Oy 0.05 BREH <0.0005
g |24 EEEEY 210 180 180 250 30~200LLF 200 180 7712470 =)L 0.0005 FHRE <0.00001
258 <0.1 <0.1 <0.1 <0.1 1EUTF <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 78|2z=rOF 4> (MEP) 0.01 B EaE <0.0001
26|pH{E 7.4 7.7 7.7 7.6 71582 7.7 7.7 7.7 7.7 7.8 7.8 7.7 7.7 7.8 7.6 7.7 7.6 79|2x/74)L7 (BPMC) 0.03 FEaE <0.0003
21|BBH G 7)) T7HEE) - 0.9 - 0.6 - 0.6 -0.5 - 05 —1~0 - 04 80| LVY 0.05 BEH <0.0005
28| KEXEME (HPC) 0 0 0 0 0 20001 0 817z F A (MPP) 0.006 R <0.00006
29[11->HaAIFLY <0.01 <0.01 <0.01 <0.01 <0.01 0.1LLF <0.001 82|7x kT —k(PAP) 0.007 FHaE <0.00007
0| 7=V LRUVZDILEY 0.01 0.02 0.02 0.01 0.1LLF <0.02 83|7x FSHSF 0.01 BREF <0.0001
31|PFOSKR UAPFOA( * 4) — - - — 0.000006 0.00005 LA T (x2) 0.000010 84|7HS54F 0.1 BEA <0.001
85|7440—)L 0.03 BRELKI <0.0003
1 FEENEEEESKISEHODKREREREEZ TR 86| 743X 0.02 R E <0.0002
x 2 85 87|70z 0.02 HEHl <0.0002
* 3: EL#IFH #46(TOC)THRA 88|ZILTTF L 0.03 BEH <0.0003
* 4:PFOS(RJLIINAOFA I EZ2 R ILIRVEE) RUPFOA(RILZ LA QX IR ER) 89|7LFS540—L 0.05 BREK <0.0005
90|7os 3Ry 0.09 BEH <0.0009
o |FoFAERR 0.007 HHRE <0.00007
92|7oEary—IL 0.05 BREH <0.0005
93|7OEH=K 0.05 BB <0.0005
94|7ORFY—)L 0.03 BREE <0.0003
95|JOEIFK 0.1 BB <0.001
96|R/3)L 0.02 BEH <0.0002
97|Rv 40y 0.1 BEH <0.001
98|RVELHOY 0.09 BREL I <0.0009
9|RL YTz FYT 0.005 BRELKI <0.00005
100[Ro 5y y 0.2 R E <0.002
101|RUTF4 A% 0.3 BRE <0.003
102|_Ro25HLT 0.02 FRE <0.0002
103[RUTILSY (A RBY'Y) 0.01 BRE <0.0001
104[_Ro L t—F 0.07 BB <0.0007
105|RRF7E—~ 0.003 FHaE <0.00005
106[R5FA> (X5Y) 0.7 FaE <0.007
107[xa7ny > 0.05 BB <0.0005
108|AV3 )L 0.03 FHE <0.0003
109|A25F L 0.2 BEH <0.002
110[A*F & F4> (DMTP) 0.004 BEE <0.00004
111|ARS/ZBEY 0.04 HEH <0.0004
112[AR) TPy 0.03 R E <0.0003
113[AZxF vk 0.02 BRE <0.0002
114[x70=)L 0.1 BEH <0.001
115|EY R—k 0.005 BR & <0.00005




